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2. See the two story building with uniformly distributed loads shown below. For an
approximate analysis, assume there are hinges as shown. Based on this
assumption, estimate the reactions at the base A.

Assumed
hinges

Ly
L./ "
1 \AAAL) «
Assumed
hinges Ly
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Solution: FBD for the pieces of the column



> F,=0=H,=wL/2

> M, =0=-C,2L,/3-0.4wL(0.1L) - 0.1wL (0.05L) =0
C, =—(3/2)0.045wL* / L, =—0.0675wL* /L, = —H,

H, =0.0675wL*/ L,

2L4/3

D> F,=0=H +wL/2=], =wL

> M, =0=-B,2L,/3+H,L —0.045wL> =0
B, =—0.0675wL” /L, +3H, /2=0.03375wL?/ L,
J,=H, —B, =0.03375wL’ /L,

X

L,

Y F=0=A=J,=wl
> F,=0=A =J,=0.03375wL" /L,
> My=0=M,=-J,L,/3=-0.01125wL’
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